Quadrilaterals - Parallelograms
Homework Practice Quiz 6.1 — 6.3 Name
For #1-4, Determine if each statement is true or false. #8) If m£NSE = 8f + 10 and m £SEA = 4f — 10, then find

E\ZEAN.’
#1) A quadrilateral is a parallelogram if it has both pairs of WMLNSE + mULSEASL ?D

opposite angles congruent. 7—{'4{ I!? E (&(— -t(o\ . (‘{S_ -,°\ - 1%
T (2% = (o

#2) A quadrilateral is a parallelogram if it has one pair of N@ mULEAN .:A% ¥ +(0 $ =<
opposite sides congruent. /ta { %

2 g o

=(20t(D
#3) A quadrilateral is a parallelogram if it has one pair of WLEAN =(30
opposite sides parallel and |Determine\whether ABCD is a parallelogram given each set of
the other pair of opposite sides congruent. L/ se. vertices. |[EXPLAIN your answer.

#9) A(2, 5), B(3, -1), C(6, 3), D (5, 9)
DLSa

#4) A quadrilateral can have 5 sides. ﬂq[ Se.

(o8 (.cﬂ 1’3

For #5-8, Use parallelogram NAES.
#5) If NT =4x + 6, and TE = 5x + 4, |find NE.
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S v d: 803" ?m““‘

> ®OpewnvT+ TE
A = (dxto) < (Sx ) =M=
'\C'D = ox 0 Mes hc
AT =TE =q(>)tco - [2x &y ix Z
Hxte= Sxt4 ve > lg%""o /‘/\% - :‘ > ) MR: Af. —Bi)
~ = — [(D(S) (D) (4 _ )+ (6)
G (22295 | 7 (e )

= (% % - (S. X
#6)IfNS=5-3y,SE=2x+1,EA=y+1,and AN =x + 5, find ' -L2 2

thevaluesm Swv = AE /V\-%:E,q) /V\K:Q,q)

s x+l E 5'31:\{'&‘
) N S o4yl
5 T“ / ytl 4= @y \[-CS, ,)/\,Q 01;0-50“0115 bosect
N X+S
SEe =VA (=¥ ¢acl~ oL .
xtl TRTS
=S (‘7‘, ( 3
Xx=4

#7) If mZSNA = 5¢ + 6 and mZSEA = 7¢c — 4,

T

N A
©/VLL SWA =mL SEA @ m SVA 2S5 ctl
Scxw="2c = 5(s)tb
= 2-49 = 2S+0
(0 =2¢ wmce SWA =3
s=cC
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Quadrilaterals - Parallelograms

#10) In quadrilateral GOAT, segment GA bisects segment OT
at N, and segment GN is congruent to segment NA. Must
GOAT be a parallelogram? Cir es or NO.

G O
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Homework Practice Quiz 6.1 — 6.3 Name
#13) If AB = 6x — 3 and CD = 2x + 9,ffind AB.)
, ex=-3
B 1 A
® Ar=cD
E
C ey D 6)(‘3 = Qx4
@ Hx -3= 9
AR bx~73 4x =T
=, (-3 x=S
= (X-3
AR = /(S

What values must x and y have in order for each quadrilateral
to be a parallelogram?

l+y
’I
2x + 3°

1-y /~\I:[-(~
3x-7= 2xt3 / *(fizl
o = (*2y
X = oY

(10,0)

The figure BADC is a parallelogram. Use this figure and the
information given to solve each problem.
#12) If m£BCD = 35, find m £BAD.

me BAD = 257

Find the ordered pair that satisfies the system of equations.
#14)

|——-) X-=“'3Y’f}

X = =20) 13
3(’2‘“”\“[ = XK= 2t}
_(?\l+q- Y:D x:,
_')\l*q :D
~‘)Y =~? 01'>
ycl

#15) 2x+3y=6|
X+2y=5 4————3 x= $-dy

(s 1)ty 20 x=s-3(4)
15-%
0-dy+*3y =0 X
_ 23
(0 =Y =
~Y >-Y4
Y= (-2.4)

#1) True #2) False #3) False
#4) False #5) NE = 28 #6) (4, 1)

#7) mZSNA =31 #8) mZEAN =130
#9) Yes, because the diagonals bisect each other. (answers

vary)

#10) Yes

#11) (10, 0) #12) 35 #13) 15
#14) (1, 1) #15) (-3, 4)
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